PH2SEERISE PV F 1 PO D EFES1 1218

TEBR

=5 L WoENAYYI—D5T @iy —2(7138Yards Par 72)
88 . 48198
TIYUEU—: 1478
iz 1408
V) BEl FhiE 237 V) Bl FhE 237 V) BEl FhE 237 V) BEl FhiE 237
1 BEHEE =8 72 (35.37) =) J—2y37 80 (40, 40) R 1EE EAB 84  (43.41) 123 @A/ A— AN 91  (41.50)
2 20 #3 wivEnk 73 (38.35) 2™ E YRF N3] 80 (40, 40) ZeaEs I 84  (43.41) 124 2K [ES) gy B 92  (49.43)
NBBE Jrr7zr~ 13 (38,35 RERE —2v37 80 (40, 40) WiE BN BAEH 84  (42.42) i e ESWw 92  (49.43)
HE R EASR 73 (37.36) bl E= R® 80  (39.41) KEFEBR 518 84 (42,42 S/ @ K% 92  (49.43)
NI EARBE BRZEIVI 73 (37.36) MT T3A  HAURZPY 80  (39.41) BARIES BE 84  (41.43) FIRNIh— mes 92  (48.44)
INVFR T2t tmasssvocus 13 (36.37) - ME TE BB - 1EiE ke ~ouAa- 84 (40, 44) B EE =z 92 (47.45)
17 BER— =L 74 (37.37) 47 ABE AN 81 (42,39 6 @k B 84 (40, 44) £0 Bek  #H3 92 (43.49)
BB - BA 74 (37.37) B 8k %R 81 (41,40 89 ik JUnAER BE 85  (44,41) 130 JtW B=E E£D 94  (51.43)
FF BN %R 74 (35.39) =2 g wasyyvsy 81 (41, 40) ININER  #HFsE 85  (43.42) 131 )5 B'R  &swmz-mesg 95 (48.47)
10 K K& @l 75 (38.37) 20 E3h  me 81 (41, 40) i B— EH 85  (43.42) SR RE VLS 95  (47.48)
ZREHRE 2URAL 75 (38.37) B EAN  Fzervms 81 (41,40 B BIY FunbEws 85 (43,42 EAEE = 95  (42,53)
BB =R EBWw 75 (36.39) R F0FE  =ibEuK 81 (41,40 P RRE BAEMI 85 (43,42 134 [RIT BEZ wFz 96  (48.48)
13 ZHE B it 76 (40, 36) T =E— woE 81 (41,40 =8 AR EE 85  (43.42) 135 L% 18 T 97  (49.48)
=2 Re  FEER 76 (39.37) ElE =T oEmFE 81  (39.42) R2IZR  #23 85  (42.43) Ay EB)  FE 97  (49.48)
s X PBR 76 (38.38) EZ N N =Y N : 81  (39.42) W ERN  sREH>0 85 (42,49) 137 V& F|ABE 1R 98  (45.53)
80K HsA —wv-— 76 (36.40) g B3l W 81  (38.43) KEE 3 R 85  (42.43) 138 WA BA KEA 100 (52, 48)
17 WEW= #woB 77 (40,37 FOEF B—B0 wom 81  (38.43) ITBE— YRS 85 (40, 45) % KR BB =6
KIE BT nesowwes 77 (38.39) MR EE  + -oukrvr 81 (38.43) 99 fAE £t ©BE 86  (43.43) =i BRMD BSR)  orvze—
FH R o E 77 (38.39) Wi BSsA  zAhroza 81 (37.44) W2 EA W 86  (42.44) x5 FH B8 BERAB®
HE (R HEBK 77 (38.39) 60 LA B iR 82  (42.40) 101 Alll #HEl 58 87  (47.40) ®Ri% PE X8 FE=xE
=8 — regE 77 (37.40) RRE BXK  #& 82  (42.40) PWE T e 87  (46.41) KRG IR TR awe-wwersiar
R fe— #HE 77 (37.40) P92 /58 =@k 82  (42.40) HFE rE 87  (46.41) xS Bk FE =4
e S woE 77 (36.41) W OEX  E=iEAEKR 82  (42.40) L7 st KB 87  (46.41) x5 A ZARBR AzvBER
24 AN TR e~x.nvzsoz 78 (42.36) i HBA  FEEER 82  (41.41) K A = 87  (45.42) x5 L BE  w-mmicono
RE B HmEE 78 (41.37) AN KA 82  (41.41) MR EE E 87  (45.42) x5 3T fE— FEno=2
WA FEAX B2 78 (38, 40) B [ s 82  (40.42) [E3E 0RRR  woE 87  (42.45)
O &’ ozEsSYwsy 18 (37.41) B FHE B 82  (40.42) WARE BN BE 87  (42.45)
kR RNE W 78 (35.43) Bl g B 82 (40,42 100 ERET FOR  =EH 88  (46.42)
29 KBHENT IEH 79 (41.38) 2= B SRR 82  (39.43) pitmi il BTE 88  (44.44)
=SB FEN 18 79 (41.38) S8 F3A YRS 82  (39.43) =5 STUH— 88  (44.44)
NI BRE  ex-uzsoz 19 (41,38) AN 6—BB R 82  (38.44) EHB— wr@ 88  (43.45)
Il &R #wWrs 79 (41.38) B = 82  (38.44) NEKB— =Rz 88  (43.45)
NS 5§ S 79 (40, 39) 13 BBz HFE 83  (45.38) 114 G5 HE  BEK 89  (48.41)
Sl E— #wrE 79 (40, 39) JARR BT &R 83  (43.40) g E2  Awmz.wms 89 (47.42)
=8 8 PeVF—Y 79 (39.40) e BE R 83  (43.40) TEHE sm=REHS0D 89 (45.44)
B 1% EASR 79 (39, 40) =8 & B3] 83  (43.40) Hip E EREHFSD 89 (44, 45)
aE & BwAN 79 (38.41) KE RB— #oE 83 (41,42 s —B  BEEER 89  (43.46)
=8 5t  #ER 79  (36.43) ME B2 X 83  (40.43) BE E— RPeX 89  (40.49)
39 FrS EX 4R 80  (41.39) 79 f@F —)\  EA 84  (45.39) 120 S8 I— #yE 90  (48.42)
INEH =8 xFLro2 80 (41.39) £%F B FHEF—D 84 (44.40) el E— == 90  (45.45)
=% it mBE 80 (40, 40) KA TR 84  (44.40) e ZE  nruvrd-=> 90 (44.46)



